1675

I

3400

200,

oL

2037

1230

600

500

200,

Det. B

Pos. Type [ DIN [Pcs.
1 Plate 150x25x4 M8 2
M8x16 7380-A2| 2
Plate 30x20x4 M6 1
2 Méx16 7380-A2| 1
M6 washer 125-A2 | 1
3 | M8 welded washer [ 9021 4
4 Plate 25x16x3 1
5 M16x60 933-A2 | 4
M16 weldednut | 929 | 4
6 Max8 [7991-A2] 2
Det. B
Scale 1:10
O/—\ B Triangle
a key
b Nl &
Elng 4 M8
o
S
©
100
3
<
LA
/ w B
& O ¥ 1
S
& jﬁ L 180 180
1 I #
g
5 150
.Ti TECNOPALI Owner: Tecnopali Title: QCYP3400F 200170 Sseit.: @: Steel:  Thickness:
NORTH EUROPE [D by: . -
— Y A Jaskovskis s2
Kviff;"n'ikv'aiaigvmﬁii"i’?ﬁ?f Checked by: . Item no.: S3
Phone +371 67148855 * D.Avisans bCYF')3400|:_2500/70 cortenal|S4
Fax +371 67148866 - - . —— - —S5
E-Mail sales@tecnopali.lv Rev.: Date: Sc.: \Weight.: Galvanized.:
v tecnopalilv 0 18.10.18 1:20 - kg S6

Specification




